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NEET, JEE, CA, TUITION 

ERODE – 12, CONTACT: 9500939789 

 

CHEMISTRY FULL PORTION CLASS 11th (04.01.2025)  45x4=180 MARKS 

 

 

01. Which of the following has highest number of 

atoms? (Atomic mass of Ag = 108 u) 

1) 2 g of butane (C4H10) 

2) 2 g of nitrogen 

3) 2 g of silver 

4) 2 g of water 

 

02. Bohr's atomic model could not explain 

(i) Zeeman & Stark effect 

(ii) Spectrum of multielectronic species 

(iii) Transition of electron in H–atom 

1) (i) & (iii) 

2) (i), (ii) & (iii) 

3) Only (i) 

4) (i) & (ii) 

 

03. Which of the following set of quantum numbers 

is impossible for an electron in an atom? 

1) n = 1, l = 0, m = 0, s = +½ 

2) n = 4, l = 2, m = –1, s = –½ 

3) n = 2, l = 1, m = 0, s = +½ 

4) n = 4, l = 2, m = –3, s = –½ 

 

04. A neutral atom Ar is converted to Ar3+ by the 

following process: 

Ar(g) 
E1
 −e ⃗⃗ ⃗⃗ ⃗⃗  ⃗

 Ar+(g) 
E2
 −e ⃗⃗ ⃗⃗ ⃗⃗  ⃗

 Ar2+(g) 
E3
 −e ⃗⃗ ⃗⃗ ⃗⃗  ⃗

 Ar3+(g) 

The correct order of E1, E2 and E3 energies are 

1) E1 < E2 < E3 

2) E1 > E2 > E3 

3) E1 = E2 = E3 

4) E1 > E2 < E3 

 

05. Which reaction involves a change in 

hybridisation of underlined atom? 

1) BF3 + Fˉ → BF4
− 

2) H2O + H+ → H3O
+ 

3) PCl5 + Clˉ → PCl5
− 

4) Both (1) & (3) 

 

01. gpd;tUtdtw;wpy; vJ mjpf vz;zpf;ifapyhd 

mZf;fisf; nfhz;Ls;sJ? (Ag ,d; mZ 

epiw = 108 u) 

1) 2 fpuhk; gpA+l;Nld; (C4H10) 

2) 2 fpuhk; iel;u[d; 
3) 2 fpuhk; nts;sp 
4) 2 fpuhk; jz;zPu; 

 

02. Nghu;-d; mZ khjpupahy; tpsf;f KbahjJ 

(i) rPkd; & ];lhu;f; tpisT 

(ii) gy vyf;l;uhd; ,dq;fspd; epwkhiy 

(iii) H–mZtpy; vyf;l;uhdpd; khw;wk; 
1) (i) & (iii) 

2) (i), (ii) & (iii) 

3) Only (i) 

4) (i) & (ii) 

 

03. gpd;tUk; ve;j Fthz;lk; vz;fs; mZtpy; 
cs;s vyf;l;uhDf;F rhj;jpakw;wJ? 

1) n = 1, l = 0, m = 0, s = +½ 

2) n = 4, l = 2, m = –1, s = –½ 

3) n = 2, l = 1, m = 0, s = +½ 

4) n = 4, l = 2, m = –3, s = –½ 

 

04. xU eLepiy mZ Ar MdJ gpd;tUk; 
nray;Kiwapd; %yk; Ar3+ Mf khw;wg;gLfpwJ: 

Ar(g) 
E1
 −e ⃗⃗ ⃗⃗ ⃗⃗  ⃗

 Ar+(g) 
E2
 −e ⃗⃗ ⃗⃗ ⃗⃗  ⃗

 Ar2+(g) 
E3
 −e ⃗⃗ ⃗⃗ ⃗⃗  ⃗

 Ar3+(g) 

E1, E2 kw;Wk; E3 Mw;wy;fspd; rupahd tupir 

1) E1 < E2 < E3 

2) E1 > E2 > E3 

3) E1 = E2 = E3 

4) E1 > E2 < E3 
 

 

05. mbf;Nfhbl;l mZtpd; ,dfyg;gpy; Vw;gLk; 
khw;wj;ij cs;slf;fpa tpid vJ? 

1) BF3 + Fˉ → BF4
− 

2) H2O + H+ → H3O
+ 

3) PCl5 + Clˉ → PCl5
− 

4) Both (1) & (3) 
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06. Which of the following pairs is having non–zero 

dipole moment? 

1)  

2)  

 

07. For the decomposition reaction, 

SO2Cl2(g) ⇌ SO2(g) + Cl2(g) 

the equilibrium constant at constant temperature 

is expressed as KP = 
Pα2

1−α2
, where P is total 

pressure at equilibrium and a is degree of 

dissociation. Select the correct statement among 

the following. 

1) KP decreases with increase in P 

2) KP decreases with decrease in P 

3) KP decreases with increase in α 

4) KP remains constant with change in P and α 

 

08. Some solid NH4HS is kept in flask containing 

NH3 gas at 0.5 atm pressure. The pressure of NH3 

and H2S at equilibrium will be 

NH4HS(s) ⇌ NH3(g) + H2S(g), KP = 0.14 atm2 

1) PNH3 = 0.70 atm, PH2S = 0.20 atm 

2) PNH3 = 0.64 atm, PH2S = 0.25 atm 

3) PNH3 = 0.80 atm, PH2S = 0.26 atm 

4) PNH3 = 0.45 atm, PH2S = 0.32 atm 

 

09. When 5 mol of an ideal gas expands from 10 L 

to 20 L, temperature of the gas changes from 

300K to 400 K. If the heat capacity CP of the gas 

is 4.0 cal mol–1 K–1, then entropy change (in cal 

K–1) of the gas is (log 2 = 0.30, log 3 = 0.47 and 

R ≃ 2 cal mol–1 K–1) 

1) 9.81 

2) 7.82 

3) 8.26 

4) 4.25 

 

06. gpd;tUk; ,izfspy; vJ G+[;[pakw;w 

,UKidj; jpUg;Gj;jpwidf; nfhz;Ls;sJ? 

1)  

2)  

 

07. rpijT tpidf;F> 
SO2Cl2(g) ⇌ SO2(g) + Cl2(g) 

epiyahd ntg;gepiyapy; rkepiy khwpyp KP = 
Pα2

1−α2
 Mf ntspg;gLj;jg;gLfpwJ> ,jpy; P vd;gJ 

rkepiyapy; nkhj;j mOj;jk; kw;Wk; a vd;gJ 

gphpif tPjk;. gpd;tUtdtw;wpy; rupahd 

$w;iwj; Nju;e;njLf;fTk;. 
1) P ,d; mjpfupg;Gld; KP FiwfpwJ 

2) P ,d; Fiwthy; KP FiwfpwJ 

3) α ,d; mjpfupg;Gld; KP FiwfpwJ 

4) P kw;Wk; α khw;wj;Jld; KP khwhky; ,Uf;Fk; 
 

08. rpy jpl NH4HS 0.5 atm mOj;jj;jpy; NH3 thA 

nfhz;l FLitapy; itf;fg;gLfpwJ. 

rkepiyapy; NH3 kw;Wk; H2S ,d; mOj;jk; 
NH4HS(s) ⇌ NH3(g) + H2S(g), KP = 0.14 atm2 

1) PNH3 = 0.70 atm, PH2S = 0.20 atm 

2) PNH3 = 0.64 atm, PH2S = 0.25 atm 

3) PNH3 = 0.80 atm, PH2S = 0.26 atm 

4) PNH3 = 0.45 atm, PH2S = 0.32 atm 
 

09. xU thAtpd; 5 Nkhy; 10 yp Kjy; 20 yp tiu 
tpuptilAk; NghJ> thAtpd; ntg;gepiy 300K 

,ypUe;J 400 K Mf khWfpwJ. thAtpd; 
ntg;gVw;Gj; jpwd; CP 4.0 cal mol–1 K–1 Mf 

,Ue;jhy;> thAtpd; vd;l;Nuhgp khw;wk; (cal K–1 

,y;) 
(log 2 = 0.30, log 3 = 0.47 and R ≃ 2 cal mol–1 

K–1) 

1) 9.81 

2) 7.82 

3) 8.26 

4) 4.25 
 
  

3) 

 

4) PCl3F2, PCl2F3 

3) 

 

4) PCl3F2, PCl2F3 
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10. Calculate the change in entropy (Δ1S°) at 298 K 

for the reaction in which urea is formed from 

NH3 and CO2 

 
The standard entropy of NH2CONH2(aq), 

CO2(g), NH3(g) and H2O(l) are 174.0, 213.7, 195 

and 75 JK–1 mol–1 respectively 

1) –354.7 JK–1 mol–1 

2) –387 JK–1 mol–1 

3) –390 JK–1 mol–1 

4) –375 JK–1 mol–1 

 

11. Arsenic can show oxidation states in the range of 

1) +3 to –5 

2) –3 to +5 

3) +1 to –5 

4) +3 to –3 

 

12. Which compound does not contain any atom 

with zero oxidation state? 

1) C3O2 

2) Na2S4O6 

3) CaOCl2 

4) C(CH3)4 

 

13. Which of the following is redox reaction? 

1) AgNO3 + NaCl → AgCl + NaNO3 

2) CaCO3 + H2SO4 → CaSO4 + CO2 + H2O 

3) 2Na + 2H2O → 2NaOH + H2↑ 

4) Cu(OH)2 + 2HCl → CuCl2 + 2H2O 

 

14. IUPAC name of the compound  is 

1) 6–Hydroxycyclohex–2–enone 

2) 2–Hydroxycyclohex–5–enone 

3) 6–Hydroxycyclohex–5–enone 

4) 2–Hydroxycyclohex–3–enone 

 

15. 0.70 g of an organic compound was Kjeldahlised 

and the ammonia obtained was passed into 

150ml of M/5 H2SO4. The excess acid required 

100ml of M/5 NaOH for neutralisation, then 

percentage of nitrogen in the organic compound 

is 

1) 40 

2) 60 

3) 80 

4) 20 

 

10. NH3 kw;Wk; CO2 fPo;fz;litfspypUe;J A+upah 
cUthFk; tpidf;fhd vd;l;Nuhgpapy; (Δ1S°) 

298 K ,y; Vw;gLk; khw;wj;ijf; fzf;fplTk; 

 
NH2CONH2(aq), CO2(g), NH3(g) kw;Wk; H2O(l) 
Mfpatw;wpd; epiyahd vd;l;Nuhgp KiwNa 

174.0, 213.7, 195  kw;Wk; 75 JK–1 mol–1 MFk;. 
1) –354.7 JK–1 mol–1 

2) –387 JK–1 mol–1 

3) –390 JK–1 mol–1 

4) –375 JK–1 mol–1 

 

11. Mu;rdpf; ve;j tuk;gpy; Mf;rp[Ndw;w 
epiyfis fhl;l KbAk; 
1) +3 Kjy; -5 tiu 
2) -3 Kjy; +5 tiu 
3) +1 Kjy; -5 tiu 
4) +3 Kjy; -3 tiu 

 

12. G+[;[pa Mf;rp[Ndw;w epiyapy; ve;j mZTk; 
,y;yhj fyit vJ? 

1) C3O2 

2) Na2S4O6 

3) CaOCl2 

4) C(CH3)4 

 

13. gpd;tUtdtw;wpy; Mf;rp[Ndw;w xLf;ftpid 

vJ? 

1) AgNO3 + NaCl → AgCl + NaNO3 

2) CaCO3 + H2SO4 → CaSO4 + CO2 + H2O 

3) 2Na + 2H2O → 2NaOH + H2↑ 

4) Cu(OH)2 + 2HCl → CuCl2 + 2H2O 

 

14. Nrh;kj;jpd; IUPAC ngau;  

1) 6–i`l;uhf;]pirf;Nshn`f;];–2–<Ndhd; 
2) 2–i`l;uhf;]pirf;Nshn`f;];–5–<Ndhd; 
3) 6–i`l;uhf;]pirf;Nshn`f;];–5–<Ndhd; 
4) 2–i`l;uhf;]pirf;Nshn`f;];–3–<Ndhd; 

 

15. xU fupk Nru;kj;jpd; 0.70 g nfy;lhy; kw;Wk; 
ngwg;gl;l mk;Nkhdpah 150ml M/5 H2SO4Mf 

mDg;gg;gl;lJ. mjpfg;gbahd mkpyk; 
eLepiyg;gLj;j 100ml M/5 NaOH 
Njitg;gLfpwJ> gpd;du; fupk Nru;kj;jpy; 
iel;u[dpd; rjtPjk; 
1) 40 

2) 60 

3) 80 

4) 20 
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16. Which of the following is most reactive towards 

electrophilic substitution reaction? 
1)  

2)  

3)  

contribute least in the hybrid? 

1)  

2)  

3)  

4)  

 

18. Number of cyclic ethers excluding stereoisomers 

for molecular formula C4H8O is 

1) 3 

2) 4 

3) 5 

4) 6 

 

16. gpd;tUtdtw;wpy; vnyf;l;uhd; fth;nghUs; 
khw;W tpidf;F kpfTk; tpidahw;WtJ vJ? 
1)  

2)  

3)  

,df;fyg;gpy; Fiwe;j gq;fspg;ig toq;Fk;? 

1)  

2)  

3)  

4)  

 

18. C4H8O vd;w %yf;$W tha;g;ghLf;fhd 
xspRow;rp khw;wpaj;ij jtpu;j;J tisa 
<ju;fspd; vz;zpf;if 

1) 3 

2) 4 

3) 5 

4) 6 

 

  

4)

  

 

17. Which of the following canonical structures will 

4)

  

 

17. gpd;tUk; cldpirT mikg;Gfspy; vJ 

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


..

5 

19. Possible product(s) obtained in the following 

reaction is 

CH3 – CH = CH2 
HBr

Peroxide⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗   

1) CH3 – CH2 – CH2 – Br 
2)  

 

20. Among the following alcohols, select the correct 

order for the ease of dehydration under acidic 

conditions. 

a)  

b)  

c)  

 

21. 5 g of a piece of marble was treated with excess 

of dil. HCl. When reaction was complete 448 ml 

of CO2 was obtained at STP. The percentage of 

CaCO3 in the marble is [Molar mass of CaCO3 = 

100 g/mol] 

1) 20% 

2) 80% 

3) 60% 

4) 40% 

 

22. Percentage of weight by volume of 0.6 M 

AgNO3(aq) (molar mass of AgNO3 = 170 g/mol) 

is 

1) 17% 

2) 10.2% 

3) 8.6% 

4) 5.1% 

 

19. gpd;tUk; tpidapy; ngwg;gl;l rhj;jpakhd 

tpisnghUs;(fs;). 

CH3 – CH = CH2 
HBr

Peroxide⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗   

1) CH3 – CH2 – CH2 – Br 

2)  

 

20. gpd;tUk; My;f`hy;fspy;> mkpy epiyfspd; 
fPo; ePupog;gpw;ghd rupahd tupiriaj; 
Nju;e;njLf;fTk;. 

a)  

b)  

c)  

nfhz;L rpfpr;ir mspf;fg;gl;lJ. HCl. tpid 

Kbe;jJk; 448 kpy;yp CO2 STP ,y; ngwg;gl;lJ. 

gspq;fpy; CaCO3 ,d; rjtPjk; [CaCO3 ,d; 
Nkhyhu; epiw = 100 g/mol] 

1) 20% 

2) 80% 

3) 60% 

4) 40% 

 

22. vilapd; rjtPjk; fdmstpy; 0.6 M 

AgNO3(aq) [AgNO3 ,d; Nkhyhu; epiw = 170 

g/mol] 

1) 17% 

2) 10.2% 

3) 8.6% 

4) 5.1% 

 

  

3)

  

4) ,it midj;Jk; 

3)

  

4) All of these 

 

 

21. xU gspq;Fj; Jz;bd; 5 fpuhk; jpy; mjpfkhff; 

d)

  

1) a > d > c > b 

2) a > c > b > d 

3) d > a > c > b 

4) c > d > b > a 

d)

  

1) a > d > c > b 

2) a > c > b > d 

3) d > a > c > b 

4) c > d > b > a 
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23. What will be the molarity of pure ethanol if 

density of pure ethanol is 789 kg/m3 at 298 K? 

1) 17.15 M 

2) 23 M 

3) 11.5M 

4) 5.75 M 

 

24. Law of conservation of mass is not applicable in 

1) Physical change 

2) Chemical reaction 

3) Nuclear reaction 

4) Both 1 and 3 

 

25. If shortest wavelength in Lyman series of H–

atom be 'x' Å, then the longest wavelength in 

Balmer series of He+ would be (in Å) 

1) 
36x

5
 

2) x 

3) 
9x

5
 

4) 
27x

20
 

 

26. The increasing order of the ionic radii of the 

given isoelectronic species is 

1) Clˉ, Ca2+, K+, S2– 

2) S2–, Clˉ, Ca2+, K+ 

3) S2–, Clˉ, K+, Ca2+ 

4) Ca2+, K+, Clˉ, S2– 

 

27. Graph of radial wave function (R) against 

distance of electron from nucleus (r) is given as 

 
Which of the following is correct about this 

graph? 

1) There is one region of negative wave function 

in the graph 

2) Above graph is for 3s orbital 

3) There are three regions of high probability 

density 

4) Both (1) and (2) are correct 

 

28. What electronic transition in Li2+ produces the 

radiation of same wavelength as the first line in 

the Balmer series of H–spectrum? 

1) n2 = 3 to n1 = 2 

2) n2 = 6 to n1 = 3 

3) n2 = 9 to n1 = 6 

4) n2 = 9 to n1 = 8 

23. J}a vj;jdhypd; mlu;j;jp 298 K ,y; 789 kg/m3 
vdpy; J}a vj;jdhypd; nkhyhupl;b vd;dthf 

,Uf;Fk;? 

1) 17.15 M 

2) 23 M 

3) 11.5M 

4) 5.75 M 
 

24. epiw Mw;wy; moptpd;ik tpjpapd;gb ,jpy;; 
nghUe;jhJ 

1) ,aw;gpay; khw;wk; 
2) Ntjp tpid 

3) mZ tpid 

4) 1 kw;Wk; 3 ,uz;Lk; 
 

25. H–atom ,d; Lyman njhlupy; FWfpa 

miyePsk; 'x' Å vdpy;> He+ ,d; Balmer 

njhlupd; kpf ePskhd miyePsk; (Å ,y;) 

1) 
36x

5
 

2) x 

3) 
9x

5
 

4) 
27x

20
 

 

26. nfhLf;fg;gl;l xj;j vyf;l;uhd; mikg;G 
nfhz;l $Wfspd; madp Muq;fspd; 
mjpfupj;J tUk; tupir 

1) Clˉ, Ca2+, K+, S2– 

2) S2–, Clˉ, Ca2+, K+ 

3) S2–, Clˉ, K+, Ca2+ 

4) Ca2+, K+, Clˉ, S2– 
 

27. mZf;fUtpypUe;J (r) vyf;l;uhdpd; J}uj;jpw;F 

vjpuhf Nubay; miy nray;ghl;bd; (R) 
tiuglk; nfhLf;fg;gl;Ls;sJ 

 
,e;j tiuglj;jpy; gpd;tUtdtw;wpy; vJ 

rupahdJ? 

1) tiuglj;jpy; vjpu;kiw miy nray;ghl;bd; 
xU gFjp cs;sJ 

2) NkNy cs;s tiuglk; 3s Mu;gpl;lYf;fhdJ 

3) mjpf epfo;jfT mlu;j;jpapd; %d;W gFjpfs; 
cs;sd 

4) (1) kw;Wk; (2) ,uz;Lk; rupahdit 
 

28. H–epwkhiyapd; ghy;ku; njhlupd; Kjy; tupapd; 
mNj miyePsj;jpd; fjpu;tPr;ir Li2+ ,y; cs;s 

ve;j kpd;dZ khw;wk; cUthf;FfpwJ? 

1) n2 = 3 to n1 = 2 

2) n2 = 6 to n1 = 3 

3) n2 = 9 to n1 = 6 

4) n2 = 9 to n1 = 8 
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29. Correct ratio of KE of electron in ground state of 

H–atom and 1st excited state of He+ will be 

1) 1 : 2 

2) 1 : 4 

3) 2 : 1 

4) 1 : 1 

 

30. The pH value of 0.20 M solution of CH3NH2 at 

298 K is [Given that its ionisation constant Kb is 

5.0 x 10–5] 

1) 12.23 

2) 11.50 

3) 10.90 

4) 12.45 

 

31. For the reaction xA ⇌ C + D, at equilibrium, it 

has been found that the expression for 

equilibrium constant (Kc) doesn't have the initial 

concentration of A, then the value of x is 

1) 4 

2) 3 

3) 2 

4) 5 

 

32. Which one of the following bonds has the highest 

average bond energy? 

1) S = O 

2) C ≡ N 

3) C ≡ C 

4) N ≡ N 

 

33. Dissociation constant (Ka) of formic acid and 

acetic acid are 2.5 x 10–4 and 0.5 x 10–5 

respectively. The ratio of their relative strengths 

at the same concentration is 

1) 2.09 

2) 7.07 

3) 4.26 

4) 6.03 

 

34. The favourable conditions for the reaction, 

2H(g) ⇌ H2(g) are 

1) Low temperature, low pressure 

2) High temperature, low pressure 

3) High temperature, high pressure 

4) Low temperature, high pressure 

 

35. In which of the following equilibrium equation 

Kp > Kc 

1) 2SO3(g) ⇌ 2SO2(g) + O2(g) 

2) PCl3(g) + Cl2(g) ⇌ PCl5(g) 

3) H2(g) + I2(g) ⇌ 2HI(g) 

4) N2(g) + 3H2(g) ⇌ 2NH3(g) 

 

29. H–mZtpd; mbepiy Mw;wy; He+ ,d; 1 tJ 

fpsh;Tw;w epiyapy; cs;s vyf;l;uhdpd; KE 
,d; rupahd tpfpjk; 
1) 1 : 2 

2) 1 : 4 

3) 2 : 1 

4) 1 : 1 
 
30. 298 K ,y; CH3NH2 ,d; 0.20 M fiurypd; pH 

kjpg;G [mjd; madpahf;fk; khwpyp Kb 5.0x 10–5 

Mf ,Ug;gjhy;] 
1) 12.23 
2) 11.50 
3) 10.90 
4) 12.45 

 
31. xA ⇌ C + D tpidf;F> rkepiyapy;> rkepiy 

khwpypf;fhd (Kc) ntspg;ghL A ,d; Muk;g 

nrwpitf; nfhz;bUf;ftpy;iy> gpd;du; x ,d; 
kjpg;G 
1) 4 
2) 3 
3) 2 
4) 5 

 
32. gpd;tUk; gpizg;Gfspy; vJ mjpf ruhrup 

gpizg;G Mw;wiyf; nfhz;Ls;sJ? 
1) S = O 

2) C ≡ N 

3) C ≡ C 

4) N ≡ N 
 
33. /ghu;kpf; mkpyk; kw;Wk; mrpl;bf; mkpyj;jpd; 

tpyfy; khwpyp (Ka) KiwNa 2.5 x 10–4 kw;Wk; 
0.5 x 10–5 MFk;. mNj nrwptpy; mtw;wpd; 
njhlh;G gyq;fspd; tpfpjk; 
1) 2.09 
2) 7.07 
3) 4.26 
4) 6.03 

 
34. tpidf;fhd rhjfkhd epiyikfs;> 

2H(g) ⇌ H2(g) vd;gJ 

1) Fiwe;j ntg;gepiy> Fiwe;j mOj;jk; 
2) mjpf ntg;gepiy> Fiwe;j mOj;jk; 
3) mjpf ntg;gepiy> mjpf mOj;jk; 
4) Fiwe;j ntg;gepiy> mjpf mOj;jk; 

 
35. gpd;tUk; ve;j rkepiy rkd;ghl;by; Kp > Kc 

1) 2SO3(g) ⇌ 2SO2(g) + O2(g) 

2) PCl3(g) + Cl2(g) ⇌ PCl5(g) 

3) H2(g) + I2(g) ⇌ 2HI(g) 

4) N2(g) + 3H2(g) ⇌ 2NH3(g) 
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36. Which of the following does not contain 3c–2eˉ 

bonds? 

1) B2H6 

2) (BeH2)2 

3) (BeCl2)2 

4) All 

 

37. How many structural isomers are possible for 

molecular formula C4H9Br 

1) 4 

2) 3 

3) 2 

4) 6 

 

38. How many of following are aromatic? 

 
1) 6 

2) 4 

3) 5 

4) 3 

 

39. Acetylene on heating in the presence of red hot 

Fe tube gives 

1) Benzene 

2) Cyclooctatetraene 

3) naphthalene 

4) Anthracene 

 

40. For the reaction A + B + q ⇌ C + D, if the 

temperature is decreased then concentration of 

the products will 

1) Increase  

2) Decrease 

3) Remains same 

4) Become zero 

 

41. The solubility of Ba3(AsO4)2 (formula weight = 

690) is 6.9 x 10–2 g/100 mL. What is the Ksp? 

1) 1.08 x 10–11 

2) 1.08 x 10–13 

3) 1.0 x 10–15 

4) 6.0 x 10–13 

 

42. Which of the following method can be applied to 

purify aniline 

1) Simple distilation 

2) Fraction distillation 

3) Crystallization 

4) Steam distillation 

 

36. gpd;tUtdtw;wpy; vJ 3c–2eˉ gpizg;Gfisf; 
nfhz;bUf;ftpy;iy? 
1) B2H6 

2) (BeH2)2 

3) (BeCl2)2 

4) midj;Jk; 
 
37. C4H9Br vd;w %yf;$W tha;g;ghl;Lf;F vj;jid 

mikg;G INrhku;fs; rhj;jpakhFk; 
1) 4 
2) 3 
3) 2 
4) 6 

 
38. gpd;tUtdtw;wpy; vj;jid eWkzKs;sit? 

 
1) 6 

2) 4 

3) 5 

4) 3 
 
39. rptg;G R+lhd Fe Fohapd; Kd;dpiyapy; 

R+lhf;Fk;NghJ mrpl;byPd; ,jid nfhLf;fpwJ 
1) ngd;rPd; 
2) Cyclooctatetraene 
3) ehg;jyPd; 
4) Me;j;uhrPd; 

 
40. tpidf;F A + B + q ⇌ C + D, ntg;gepiy 

Fiwe;jhy;> tpisnghUs;fspd; nrwpT 
1) mjpfupg;G 
2) Fiwg;G 
3) mg;gbNa cs;sJ 
4) G+[;akhf 

 
41. Ba3(AsO4)2 ,d; fiujpwd; (tha;g;ghl;L vil = 

690) 6.9 x 10–2 g/100 mL MFk;. Mjd; Ksp 

vd;d? 
1) 1.08 x 10–11 

2) 1.08 x 10–13 

3) 1.0 x 10–15 

4) 6.0 x 10–13 
 
42. mdpypid Rj;jpfupf;f gpd;tUk; ve;j 

Kiwiag; gad;gLj;jyhk; 
1) vspa tbj;jy; 
2) gpd;df; fha;r;rp tbj;jy; 
3) gbfkhf;fy; 
4) ePuhtp tbj;jy; 
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43. What is/are the products in the following 

reaction?    CH4 + Cl2 
   hv   
→    

1) CH3 – Cl 

2) CH3 – CH3 

3) Cl2 

4) All 

 

44. Sodium acetate on Kolbe’s electrolytic methode 

gives 

1) propane 

2) butane 

3) isobutane 

4) ethane 

 

45. To get 2,5–dimethyl hexane by wurtz reaction the 

halide taken is 

1) n–butyl chloride 

2) tertiary butyl chloride 

3) isobutyl chloride 

4) isopropyl chloride 
 

43. gpd;tUk; tpidapy; cs;s tpisnghUs;fs; 
vd;d? 

CH4 + Cl2 
   hv   
→    

1) CH3 – Cl 

2) CH3 – CH3 

3) Cl2 

4) midj;Jk; 
 
44. Nfhy;/gpapd; vyf;l;Nuhiybf; Kiwapy; 

Nrhbak; mrpNll; ,jidf; nfhLf;fpwJ 
1) GNuhg;Ngd; 
2) gpA+l;Nld; 
3) INrhgpA+l;Nld; 
4) <j;Njd; 

 
45. cu;l;]; tpid %yk; 2,5–ilnkjpy; 

n`f;N]d; ngw vLf;fg;gl;l `hiyL 
1) n–gpA+l;ily; FNshiuL 
2) %tpiza gpA+l;ily; FNshiuL 
3) INrhgpA+l;ily; FNshiuL 
4) INrhGNuhigy; FNshiuL 
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